
BALANCE
YOUR INTERIOR



1th Edition/ Fouth Printing September 2009, Printed in Slovak Republic 
© Copyright by Jakob AG Switzerland 2008
Idea & Conception by CID s.r.o., Bratislava, Slovak Republic

www.jakob.ch

BALANCE
YOUR INTERIOR
Jakob AG, Drahtseilfabrik, CH-3555 Trubschachen, Switzerland

Tel. +41 34 495 10 10, Fax. +41 34 495 10 25

www.jakob.ch, e-Mail: inox@jakob.ch



BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE

BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE

27,5 

M
8

 

1
7

,5
 

11
 

5 

25 

44 

1
8

15

M 8 

3,
5 

11
,5

 

16 15

3,5 

M
8

 

40 19

M
8

 

11
 

1
3

 

7 10

M
8

 

11

307

M
8

 

11
 

41

1
7

,5
 

11
 

5 

10820-0100-42

INOX-Seil o1,0mm 
Câble INOX o1,0mm 

Stainless steel wire rope o1,0mm 

10820-0150
Stainless steel wire rope o1,5mm 
INOX-Seil o1,5mm 
Câble INOX o1,5mm 

10820-0180
Stainless steel wire rope o  1,8 mm
INOX-Seil o 1,8 mm
Câble INOX o 1,8 mm

30990-0201
cable holder

support câble
Seilhalter

30990-0401
angle section small   
Winkel klein
equerre petit

30990-0402
angle section big   
Winkel gross 
equerre grand

30990-0200
cable tensioner   
Seilspanner 
tendeur reglable

30990-0600
hook   
Haken 
crochet

30990-0605
Hook adjustable  
Haken verstellbart 
crochet réglable

30990-0202
comfort tensioner   
Komfortspanner  
confort support



BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE

BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE

3

16

19,5

2,5 

11

24,5

111
6

 

3,5 

43 

M
8

 

2
7

 

11
 

37

1
7

,5
 

11
 

27

3,5 
M

8
 

1
7

 

11
 

19

M
8

 

11
 

25 7

M
8

 

M
8

 

11
 

30990-0610
eyelet 
Öse
oeillet

30990-0615
eyelet adjustable  
Öse verstellbar
oeillet réglable

30990-0650
ring holder 
Ringhalter
porte-anneau

30990-0670
pulley
Umlenkrolle
poulie de renvoi

30990-0690
holder for fabrics
Stoffhalter
support tissus

30990-0300
adapter
Verbindungsstück
raccord

30990-0310
extra-length holder   
Distanzhalter
entretoise

21,5

M
8

 

4 

11

21,5

30990-0660
elbow holder  
Gelenkhalter
support



BA
LA

N
C

E

0300

0063

0650

0750

0071 0310

0716

0501

0670

0600

0615

0202

0200

0722

0716

02010690

0201

0500

0690

0730

0201
0510

0201

0402

0680



03
20

0721

0200

0201

0510

0500

0200

0711

0201
0510

07120710

02000200

0201

0401

10820 - 0100 - 42

10
82

0 
- 0

15
0

0200

0600

0020

0510

0520

0660

0501



BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE

BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE

1
0

M8 

11

2,5

5

M
8

 

1
6

 
1

6
 

11

8

M
8

 

11

11
,5

19

2

M
8

 

11

3
,5

7

M8 

30 

2 

30990-0320
 cover disc    
 Scheibe  
 platine 

30990-0710
 shelf holder 5 mm    
 Bodenhalter 5 mm  
 support de tablettes 5 mm 

30990-0720
 shelf holder 8 mm    
 Bodenhalter 8 mm  
 support de tablettes 8 mm 

30990-0730
 dome nut M8    
 Hutmutter M8  
 écrou borgne M8 

30990-0510
 adapter plate    
 Schienenadapter  
 platine pour rail 

30990-0500
 rail ceiling mounted  
 Schiene für Deckenbefestigung
 rail fixation plafond

30990-0501
 rail wall mounted   
 Schiene für seitliche Befestigung 
 rail fixation latérale

2

17,55

2
0

 

1
41
6

30990-0520
 ceiling connector
 Deckenbefestiger
 fixation pour plafond

M8 

8
 

36 

11 

30990-0750
 shelf plate    
 Bodenplatte  
 supporte de tablettes large / 



BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE

BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE
BALANCE

15

40

M
8

 

27 

50

9

M8 

2
0

35

13,5

2
0

11,9 

1
0

M
8

 

2
6

1
0

12

36 

2
6

1
0

6

36 

20 

30990-0721
 shelf connector single-sided,  swivel ends    
 Halter einseitig  drehbar  
 support pivotant 1 faces 

30990-0722
 shelf connector double-sided, swivel ends   
 Halter zweiseitig  drehbar 
 support pivotant 2 faces

30990-0711
 deco-holder one-sided   
 Dekohalter einseitig 
 support déco 1 faces

30990-0712
 deco-holder two-sided    
 Dekohalter zweiseitig 
 support déco 2 faces

30990-0716
 Vertical holder    
 Halter vertikal  
 Support vertical 

30990-0680
 ball    
 Kugel  
 bille 

30990-0010
 dual thread screw M8   
 Stockschraube M8 
 vis filetée métrique/bois M8

30990-0061
compression sleeve in aluminium for rope 1 mm
Seilpresshülsen aus Aluminium für Seil 1 mm
manchons en aluminium pour câble 1 mm
30990-0062
compression sleeve in aluminium for rope 1,5 mm
Seilpresshülsen aus Aluminium für Seil 1,5 mm
manchons en aluminium pour câble 1,5 mm

30990-0063
compression sleeve in aluminium for rope 2 mm
Seilpresshülsen aus Aluminium für Seil 2 mm
manchons en aluminium pour câble 2 mm

30990-0071
thimbles 1.4404 for rope 1 mm - 1,8 mm
Kauschen 1.4404 für Seil 1 mm - 1,8 mm 
cosses 1.4404 pour câble 1 mm - 1,8 mm

40

M
8

 

30990-0020
 headless screw M8   
 Gewindestift M8 
 tige filtée M8


